III.CBenenus
0 HOPMATHBAX OLEHKH (PMHAHCOBOH yCTOHYHBOCTH
AesiTeIbHOCTH 3aCTPOHINMKA

1 Hopmatus 06ecie4eHHOCTH 0053aTENBCTB 4,66
2 HopmatuB 11e51€Boro UCoab30BaHus 0,14
CpEJICTB
3 Hopmatus 6e3y0bITOYHOCTH 2
4 Pa3mep cOOCTBEHHBIX IEHEKHBIX CPE/ICTB -
3aCTpOMIINKA
cTp.1600 _ 514479
= 2= = 4,66
n.12.7 npun2 110357
2. cTp.1100+cTp.1230+cTp.1240—CTp.1190—0653aTeNbCTBA [0 ALY

cTp.1400+cTp.1500—CTp.065A3aTENBCTBA NIEPE]] YHaCTHUKAMH J]0JIEBOTO CTPOUTEILCTBA

_194967+77798+0-153923-67707 _ 51135
358625+112345-110357 360613

=0,14






